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Today
:

Compactness

Definition! Fix a Set X
,
and a collection of subjects

A -- P(X)

- + Vx
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& VaYIEA is a cover lofX) if EnVo = X
.

If X is a topological space and each UI is open ,
we

say SVICIA is an open cover .

Ex
:

Let X
:

the surface of the earth . Given an atlas
,

let
-

A = the set of pages of the atlas
. For each page ,

let

Na be the portion of X mapped on page .
Then SVIAA

is a cover . If
,

further
,
each I depicts only open subsets of X.

VThen GUEGAA is an open cover
. ..
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1) BC A X = Sc I

2) UBEB's a cover (of X)
.

Definition
!

A topological space X is compact if every open

cover of X admits a finite subcover
. B is a finite set

-


